I can complete calculations.

4)(5:

1 x4

4 x 10 =

7’x£,,=

4 x 4 =

I can find the products of the 4 times table.
Circle the products.

15
21
4
6
8
10
40
12
16
11
0 10
20 24
32 17
36

13
28



I can complete calculations.

4x5=20  7x4 =28
Tx4 =28 4xh=16
4x10=40 3x4 =12
6x4 =2 4x2-8
4%9=36 9x4 =36
Ox4 =0 4x1=4
bx1=&  4x0=0
8x4 =32 4xb=16
4Lx5=20  4x8=32
3x4 =12 1xb=h
bx6=24  4x5=20

I can find the products of the &4 times table.

Circle the products.
4 x 4 =16
15
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4x3=12
0x4=0
Lx2=8 10
7 x 4 = 28
4 x 10 = 40
3 x4 =12
4 x5 =20

17
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9 x4 =36

4x0=0

2x4=8



